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LinkedList

public class LinkedList {
int head;
LinkedList tail;

public LinkedList (int item, LinkedList list) {
head = item;
tail list;
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LinkedList

public class LinkedList {
int head;
LinkedList tail;

public LinkedList (int item, LinkedList list) {
head = item;
tail = list;

}
This data structure is also referedd to as a cons cell.
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or

Node head;
int size;

by

public class LinkedList {

public class Node {

int value;
Node tail;
}

We have a data structure that represents the empty list.

The data structure will always refer to the head of the linked list.
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LinkedList - search

public boolean search(int key) {
LinkedList nxt = this;

while (nxt != null) {
if (nxt.head == key)
return true;
nxt = nxt.tail;
}

return false;
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LinkedList - add

public LinkedList add(int key) {
return new LinkedList(key, this);

3
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LinkeList - delete

public LinkedList delete(int key) {
LinkedList nxt = this;
LinkedList prev = null;
while (nxt != null) {
if (nxt.head == key) {
prev.tail = nxt.tail;
break;
}
prev = nxt;
nxt = nxt.tail;
}
if ( this == nxt)
return null;
else

return this; o/10



LinkedList - append

public void append(LinkedList b) {
LinkedList nxt = this;
while (nxt.tail != null) {
nxt = nxt.tail;

+
nxt.tail = b;
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LinkedList - reverse

public LinkedList reverse() {

LinkedList nxt = this;
LinkedList prev = null;

while ( nxt != null) {
LinkedList tmp = nxt.tail;
nxt.tail = prev;
prev = nxt;
nxt = tmp;

¥

return prev,
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an alternative
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Sequence

public class Seq {
LinkedList first;
LinkedList last;
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Sequence

public class Seq { :
LinkedList first; public void append(Seq b) {
LinkedList last; last.tail = b.frst;
: last = b.last;
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